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200m M40 | 1 2404 +05 | 28 | 0782 | R @ 2|44 | &E [E| 5/6
200m M40 | 2 2479] +05 | 27 | 1195 [(E H # H[ 42 | X BR| 5/6
200m M40 | 3 2525/ +05| 28 | 1281 [B & #M B4 |E [E| 5/6
200m M40 | 4 2745 +05| 27 | 1312 1A H £ —EBA[ 43 [ K Br| 5/6
200m M40 |DNS ol +05 | 27 | 1165 |[4& B ot || 43 | K Br| 5/6
200m M35 | 1 2462| +1.6 | 27 | 1443 Stayanchi 36 | X x| 5/6
200m M35 | 2 2475 +16 | 27 | 1395 |fg & =39 | KX | 5/6
200m M35 | 3 2574 +16 | 26 | 0636 [/ JII {E Al 36 | #B| 5/6
200m M35 [DNS of +16 | 26 | 0616 |55 FH & =|[39 | #B| 5/6
200m M35 [DNS Of +16 | 26 | 0641 |4 Bk 18 5[ 39 | #B| 5/6
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1 H [ JOA|BM] o ik | nx Regenes K 24 i | EE | #iH [vesons| [#ZE
200m M35 |DNS of +16 | 27 | 1384 [dt [ & ##[ 35 | K Br| 5/6

200m M30 | 1 2477 +16 | 27| 1399 |[#& m@ 2|34 | K BR[| 5/6

200m w75 | 1 3741 +1.3[ 26 [ 0514 |0 JII Z= F|[77 | &= #B| 5/6

200m W55 |DNS of +1.3[ 26 | 0592 |[&H JII 88 F|59 |&= #| 5/6

200m W50 | 1 3516 +1.3 | 27| 1262 [& E M ZE|51 | K Br| 5/6

200m W35 | 1 2701 +1.3 [ 22 | 0967 B FH HH LV 39 | E 50| 5/6 | KEH
200m w35 | 2 2739 +13| 27| 1378 |= = F|139 | K BR| 5/6 | K&
400m M65 | 1 1.07.34 27| 1066 | & B X[65 | K Br|[ 5/6

400m M65 | 2 1.10.05 27| 1240 |2 & % X|[65 | K Br| 5/6

400m M60 | 1 1.04.88 24 | 0478 |IlL B & 4&£[63 | = FE|[ 5/6

400m M60 | 2 1.07.94 27 | 0587 |## ¥ | HI[62 | X Br|[ 5/6

400m M60 | 3 1.10.93 27| 1274 |5 KX F1 1#5[ 63 | X Br|[ 5/6

400m M60 |DNS 0 28| 0184 |[fe R B Z|61 |&E FE| 5/6

400m M55 | 1 1.01.26 28 | 1102 |/ A& B HI{Z|56 | & E| 5/6 | X&#H
400m M55 | 2 1.10.64 28 | 1189 |& B |57 | &E E| 5/6

400m M50 | 1 1.44.55 26 | 0390 |5 JIIl {E B[53 | = #B|[ 5/6

400m M50 |DNS 0 28 | 1332 |5 K 2 i#| 53 | &E E| 5/6

400m M45 | 1 1.08.42 24 | 0688 |&F Wi f& T[49 | = FE| 5/6 | KEH
400m M40 | 1 52.86 28| 0782 | |8 # z|44 | E [E| 5/6

400m M40 | 2 55.38 27 | 1195 i H % $[42 | X Br| 5/6

400m M35 | 1 58.97 27 | 1384 |4t [ i B[ 35 | K Br| 5/6

400m M30 | 1 54.19 28 | 1262 |3 Bk % B[ 32 |E [E|[ 5/6

400m M30 [DNS 0 27| 1424 | H E —| 34 | X x| 5/6

400m M25 | 1 50.90 27 | 1520 |jgk # & 7= 25 | K BR[| 5/6

400m w55 | 1 1.09.29 26 | 0592 |& JIl %R F[59 |= #B|[ 5/6

400m W55 | 2 1.19.68 27 | 1363 |¥ £ B& F[5 | K Br|[ 5/6

400m ws0 | 1 1.12.71 28 | 1099 |KX R By F[51 |&E [E|[ 5/6

400m W50 | 2 1.16.34 27| 1262 |5 E H %=[51 | X B[ 5/6

800m M80 | 1 3.21.12 30 | 0223 |& @1 47 | 80 |FnErL | 5/6 | K&
800m M80 | 2 3.21.79 28 | 0014 |l XK %82 | &E E| 5/6 |[K&EH
800m Ms0 | 3 3.42.49 27 1 0506 [Il X IF X|8 | X FR| 5/6

800m M75 | 1 3.04.28 27| 0958 |%F T =58[76 | X Bk 5/6 [K&E#H
800m M75 | 2 4.01.64 27| 1166 |H B == F| 78 | K x| 5/6

800m M65 | 1 3.10.23 27 | 1282 Bk H 2166 | K Br| 5/6

800m M65 |DNS 0 26 | 0634 |% H F Xx[66 | #B|[ 5/6

800m M60 | 1 24938 27 | 0587 |## ¢ M BHI| 62 | K Br| 5/6

800m M55 | 1 2.28.32 28 [ 0259 | & R| 58 | &E E| 5/6

800m M55 | 2 2.46.08 27| 1191 |88 O # =5 | X BR[| 5/6

800m M55 [DNS 0 27| 0716 |’ B # B[59 | X Br|[ 5/6

800m M50 | 1 2.28.72 27 | 1459 |B8 A& #15 | X Br| 5/6

800m M50 | 2 2.34.34 27 | 0949 | B ® [ 51 | K Br| 5/6

800m M50 | 3 3.05.40 27 | 1348 |8 K # 8h[ 54 | X Br[ 5/6

800m M50 |DNS 0 27 | 1434 I H %53 | K Br| 5/6

800m M45 | 1 2.35.87 26 | 0743 [1& B A|l48 |Z® #B| 5/6

800m M45 [DNS 0 26 | 0757 |#%& R # |46 | = #B[ 5/6

800m M40 | 1 213.17 27 | 1505 |& | 43 [ X Bx| 5/6

800m M40 | 2 21413 26 [ 0548 | K & ©E |41 [ #B| 5/6

800m M40 | 3 2.15.41 28 | 1242 |FEHR fE KBER[43 |E [E|[ 5/6

800m M40 | 4 22432 30 | 0893 |&B & £ =E| 42 |#nFl | 5/6

800m M40 |DNS 0 371 0391 [/ TR ER|40 | F JII| 5/6

800m M35 | 1 2.17.30 28 | 1369 | H H 8h| 38 |&E [E| 5/6

800m M30 |DNS 0 27 | 1424 | H E —| 34 | KX B[ 5/6

800m W75 | 1 3.46.48 27 | 0886 |[# M #1 F[ 78 | K PBr| 5/6

800m W50 | 1 257.05 27 | 0434 |IZF E E ZE[53 | X k| 56 |[K&H
800m w35 | 1 24132 27 | 1484 |[#8 X F E|38 | K B[ 5/6

1500m M8o [ 1 7.05.77 30 | 0223 |&= @i 47 [ 80 |FnFr | 5/6

1500m M80 | 2 7.12.04 27| 0506 [lU & IF Xk|82 | K Br| 5/6

1500m M75 | 1 6.23.39 27 | 0958 |&%FTF =% FE[76 | KX Br| 5/6

1500m M70 | 1 6.01.09 47 | 0233 [ Wi & B 70 | #B]| 5/6 | KEH
1500m M60 | 1 5.19.18 27| 1450 |&8 & E[63 | X Br| 5/6

1500m M60 | 2 5.24.64 27 | 1362 |E2 AR % {1&[60 | K PBR|[ 5/6

1500m M60 | 3 5.28.82 27 | 0487 | & & BE| 60 | K BR[| 5/6

1500m M55 | 1 5.08.96 28 | 0259 | XK R 58 | &E E | 5/6
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1 H [ JOA|BM] o ik | nx Regenes K 24 i | EE | #iH [vesons| [#ZE
1500m M55 | 2 5.10.75 28 | 1189 |&£ % Zl57 | & E| 5/6

1500m M55 | 3 5.18.66 26 | 0705 |# H # X[55 |ZW #B|[ 5/6

1500m M55 [DNS 0 27 | 1204 |&p B |55 | K Br| 5/6

1500m M50 | 1 5.01.81 27 1 0949 | H & S| 51 | K x| 5/6

1500m M50 | 2 5.03.59 27| 1459 |BE & 2150 | K BR[| 5/6

1500m M50 | 3 5.14.28 27 | 0983 | E# = XREF 54 | K Br| 5/6

1500m M50 | 4 5.33.12 27 | 1407 |48 ¥ — #E[50 | XK PBr| 5/6

1500m M50 |DNS 0 27 | 1133 |9 JIl IE &[53 | X Br| 5/6

1500m M50 |DNS 0 27 | 1519 |/ 48 1& B[ 51 | X BR[| 5/6

1500m M45 | 1 4.34.94 22 | 0937 |3 £ #1 B[45 |2 41| 5/6 |[K&EH
1500m M45 | 2 43752 26 | 0703 [#k T Z| 46 | = #| 5/6

1500m M45 | 3 5.04.09 28 | 1334 |BE R B R[46 | E [E | 5/6

1500m M45 | 4 5.10.17 27 | 1152 |F% B #t47 | X Br]| 5/6

1500m M45 | 5 5.16.06 26 | 0743 | B A|l48 |= #| 5/6

1500m M45 [DNS 0 26 | 0757 | & # th)| 46 | = #B| 5/6

1500m M40 | 1 431.12 28 | 1365 |ffi H B R[42 |&E [E| 5/6

1500m M40 | 2 4.37.05 27 | 1505 |&% X[ 43 | K Br| 5/6

1500m M40 | 3 4.38.64 28 | 1242 |FEHR B2 KER| 43 | &E FE| 5/6

1500m M40 |DNS 0 371 0391 ! &R E&[40 |F I 5/6

1500m M35 | 1 4.30.48 30 | 0949 [A X f&#| 38 |#Feh | 5/6 | KEFH
1500m M30 [DNS 0 27 | 1424 | H E —| 34 | X x| 5/6

1500m w75 | 1 7.12.79 27 | 0886 |#2 M # F[78 | X Br| 5/6 |[K&#H
1500m w55 | 1 5.57.79 27 | 1363 |#f £ B& F[56 | K Br| 5/6

1500m w45 | 1 5.23.72 271 0790 |#8 E B8 F| 46 | K [R| 5/6

3000m M80 | 1 | 16.09.08 28 | 0014 |l XK %82 | &E E| 5/6

3000m M75 | 1 | 13.25.99 27| 0958 |%FF =58[76 | X k| 5/6 [K&E#H
3000m M75 | 2 | 17.03.40 27| 1166 |H B B F| 78 | KX x| 5/6

3000m M70 | 1 | 12.16.67 27| o176 |58 B % #| 70 | K Bk| 5/6 | XK&#H
3000m M65 | 1 | 14.28.68 27 | 1499 |H F FH —| 69 | K x| 5/6

3000m M60 | 1 11.19.08 27| 1174 |k & [ Xk|62 | K x| 5/6

3000m M60 | 2 | 11.25.44 27| 1450 [ & E| 63 [ X Br| 5/6

3000m M60 | 3 | 11.44.43 27 | 0487 |BE & & B[ 60 | K Br| 5/6

3000m M60 [DNS 0 27 | 1498 |87 % B H[62 | X Br| 5/6

3000m M60 [DNS 0 30 [ 0469 | ) 61 | #nFel | 5/6

3000m M55 | 1 10.28.56 27 1 0915 [l XK #| 55 | K M| 5/6 | K&
3000m M55 | 2 | 11.21.10 26 | 0705 |42 H # X[55 |Z #B|[ 5/6

3000m M55 [DNS 0 27 | 1204 |0 B |55 | K BR[| 5/6

3000m M50 | 1 | 125743 27| 1459 |B & #15 | X Br| 5/6

3000m M50 [DNS 0 27| 1434 |Iu1 H E|53 | K x| 5/6

3000m M50 [DNS 0 28| 1072 |= = X E|51 |&E E| 5/6

3000m M45 | 1 9.52.63 22 1 0937 | £ 0 B 45 |E | 5/6

3000m Ma5 | 2 | 11.05.56 27 | 1152 |#% 8 #t[47 [ X BR| 5/6

3000m M40 | 1 | 105462 28| 1384 |E H F| 44 | &E E| 5/6

3000m w45 | 1 11.32.23 27| 0790 |[#8 B B F| 46 | K Bx| 5/6 | XK&¥H
3000m w35 | 1 11.57.66 27 | 1484 |8 X F FE[38 | X Br[ 5/6

5000m M55 | 1 17.51.73 27 | 0915 |1 & #|5 | K | 5/6 |[KR&#H
5000m M55 | 2 [ 18.57.89 30 | 1315 [B% Kk 72| 55 | #nFrl [ 5/6

5000m M55 | 3 | 23.23.88 27 | 1455 [ #E  #f| 57 | K BrR| 5/6

5000m M55 |DNF| 0 27 | 1204 [ =2 |5 | K Br| 5/6

5000m M50 | 1 17.13.14 28 | 0750 |&F #¢ Z|51 | &E E| 5/6

5000m M50 | 2 | 18.08.20 271 0949 | H i |51 | K BR[| 5/6

5000m M50 | 3 | 18.13.40 27 | 1525 |s£ %8  — FH| 50 | K BR[| 5/6

5000m M50 | 4 | 19.04.90 27 | 0983 | L # ZFE XREF| 54 | K BR[| 5/6

5000m M50 | 5 | 19.43.71 27 | 1407 |4 ¥ — =[50 | K BR[| 5/6

5000m M50 | 6 | 22.22.46 27 | 1366 |/ & F #[ 54 | KX Br| 5/6

5000m M50 | 7 | 23.47.02 28 | 1176 |k Wi Bh ZF|[ 51 | &E E| 5/6

5000m M50 |DNS 0 27 | 1526 |#¥2 K £ #E[ 51 | XK Br[ 5/6

5000m Ma5 | 1 | 164153 26 | 0456 |= % 4t #sh| 46 | #| 5/6 | KEH
5000m Ma5 | 2 | 165837 22| 0937 |# E 0 Bl 45 |E %] 5/6 | KEH
5000m Ma5 | 3 | 17.36.26 26 | 0703 |# gt Z|[46 |® #| 5/6 |[KE&E#H
5000m M45 | 4 | 184597 13| 3413 |E H % HI| 46 | B IR | 5/6

5000m M45 | 5 | 19.13.39 28 | 1334 |fE & B R 46 | E E| 5/6

5000m M45 | 6 | 19.50.82 27| 1513 |8 K F A[47 | XK Br| 5/6

5000m Ma5 | 7 | 20.21.32 30 | 1306 |7 % & Z[48 |FFL [ 5/6
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1 H [ JOA|BM] o ik | nx Regenes K 4 Zi | MEE | BiH [vesons| [#ZE
5000m M45 |DNS 0 26 | 0658 |# B K ®[47 | #B|[ 5/6

5000m M45 [DNS 0 27 | 1048 |g1 BF & —| 47 | K B[ 5/6

5000m M40 | 1 | 19.38.64 27 | 1136 |#8 & & —| 44 | K x| 5/6

5000m M40 [DNS 0 27 | 1185 |48 5k & =[42 | X Br| 5/6

5000m M35 | 1 | 17.47.10 27| 1531 | I — #F| 35 | X BR[| 5/6

5000m M30 [DNS 0 27| 1530 |&FHF H & F| 30 | K x| 5/6

5000m w45 | 1 | 23.13.01 27| 1387 |E £ & F| 45 | K x| 5/6

5000m w35 | 1 | 21.05.44 27| 1447 |HH LD A3 | K x| 56

80mH M75 | 1 17.75| -1.5 | 30 | 0001 [B # & =| 76 |#0FrL | 5/6 0.762m
80mH M75 [DNS 0 27 | 0848 | B¢ E|79 | X Br| 5/6 0.762m
100mH M65 | 1 2009 15[ 27 [ 0057 | B F M| 65 | X Br| 5/6 [xz2emss|0.840m
100mH M65 |DNS 0 271 0072 |& B ¥ X[66 | XK Br|[ 5/6 0.840m
100mH M60 [DNS 0 27 [ 0305 [ & #[62 | X Br| 5/6 0.840m
100mH M55 | 1 19.86] +0.2 | 27 | 1471 |A %% H 8h| 57 [ X B[ 5/6 0.914m
100mH M50 | 1 1595( +02 | 24 | 0345 [ = ® R|52 | = =E| 5/6 |[xzezasn(0.914m
100mH M50 | 2 18.75| +0.2 | 27 | 1348 |& K # 5h| 54 [ X Bx| 5/6 0.914m
100mH M50 | 3 19.86] +0.2 | 27 | 1366 [N & F #| 54 | KX Br| 5/6 0.914m
100mH M50 [DNS 0 21 | 1181 |B8 M k|52 | &% | 5/6 0.914m
110mH M45 | 1 1706 -0.7 | 26 | 0726 [I4 & B 8h[ 45 | & #B| 5/6 | KE#H [0.991m
110mH M45 | 2 18.00] -0.7 | 26 | 0600 | & 2|49 | #| 5/6 0.991m
110mH M40 | 1 1551] 07| 25 | 0821 |F H 242 [# B/ 5/6 [K&H 0991m
110mH M40 | 2 18.64] -07 ] 27| 1469 [tf E &l 42 | K Br| 5/6 0.991m
110mH M40 | 3 19.23] -07 ] 27| 1318 [ & E|l 41 | X Br| 5/6 0.991m
110mH M40 |DNF 0 28 | 1414 |i8 1& & | M | &E E| 5/6 0.991m
110mH M35 |DNS 0 27 | 1413 |l i & [38 | K Br| 5/6 0.991m
300mH M65 | 1 56.22 271 0072 |& B ¥ X[66 | K Br|[ 5/6 0.762m
300mH M65 | 2 1.00.85 27 | 0228 |B& fd 2|66 [ X Br| 5/6 0.762m
300mH M65 |DNF 0 27 |1 0057 |N @k = | 65 | K B[ 5/6 0.762m
300mH M60 | 1 59.71 27| 1274 |& KX #1 18[ 63 | X Br|[ 5/6 0.762m
300mH M60 [DNS 0 27| 1372 |8 & ¥ —|63 | K x| 5/6 0.762m
300mH M60 [DNS 0 27 | 0305 [ & B[62 | X Br| 5/6 0.762m
400mH M50 | 1 1.18.74 27| 1366 |/M & F #| 54 | K Br| 5/6 0.840m
400mH M45 | 1 1.03.36 26 | 0726 |14 b EE B\ 45 | I #| 5/6 | K&$r [0.914m
400mH M40 | 1 1.05.61 25| 0815 |[f@ & & |44 | B 5/6 0.914m
400mH M40 [DNS 0 27 | 1299 | B IE Al41 | X Br| 5/6 0.914m
400mH M35 | 1 1.08.18 38 | 0749 |4 B #t [ 35 | & 1E| 5/6 [KE&$r [0.914m
400mH M35 | 2 1.17.10 27| 1418 |5E & BB =[39 | X PBr[ 5/6 0.914m
5000mW | M85 | 1 | 35.11.82 26 | 0032 |[f & ] 85 | I #B| 5/6 |sx#-xzw
5000mW | M85 | 2 | 43.08.03 28 | 0615 [ # F J\|86 |&E [E| 5/6

5000mW | M80 | 1 | 41.42.24 1 0188 |F8 1§ {8 —| 84 |dbfBE | 5/6

5000mW | M75 | 1 | 41.48.07 30| 0847 [B& H | 78 | #0Frl | 5/6

5000mW | M75 |DNS 0 27 | 0050 [¥% [&® | 77 | KX Br| 5/6

5000mW | M65 | 1 | 375357 27 | 1342 |7 A ® %x[66 | K Br|[ 5/6

5000mW | M60 | 1 | 28.28.84 30 | o885 | £ B sk @Al 61 |FoZru | 5/6 | K&
5000mW | M60 | 2 | 35.26.94 26 | 0069 [ K |61 | & 5/6

5000mW | M55 | 1 | 29.42.28 30 | 0906 |+ & = §h[ 57 |F0FRL [ 5/6

5000mW | M55 | 2 | 34.03.43 27 | 1283 | B & Z[59 | X PBr[ 5/6

5000mW | M55 | 3 | 35.29.08 24 | 0095 | B IE A|57 | = E| 5/6

5000mW | M50 | 1 | 28.30.13 27 | 1044 |36 )1l ## £|52 | K BR| 5/6 | XK&EH
5000mW | M50 | 2 | 36.27.07 26 | 0390 |5 JIIl {§ B[53 |& #B[ 5/6

5000mW | M45 | 1 | 3059.15 28 | 1215 |l ¥ B #[ 49 | & E | 5/6

5000mW | M45 | 2 | 315267 27 | 1377 |& )l 2 =l 45 | K BR[| 5/6

5000mW | M40 | 1 | 32.08.77 27 | 1136 (8 KX & —| 44 | X r| 5/6

5000mW | W75 | 1 | 40.17.66 26 | 0500 [BR A J\E F[76 |FE #i| 5/6 |oxwxaw
5000mW | W50 | 1 | 32.51.85 20 | 0429 |8 W E®dE#| 50 | &£ B| 5/6 | XEH
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